Bridge at the Lunatic Fringe --  Number   19 – 

You can’t make it if the finesse is winning!
Today’s hand is a remarkable instance in which the contract can be made only if the one finesse available (but never taken) would lose.  Start by looking only at declarer and dummy hands:
Professor (North)
(  Q 7 3


(  8 6 5 4



(  A J 5 2


(  J 10
Warren (South)
(  K J 10 8 4
(  2


(  Q 4 
(  A K Q 9 5
In a contract of  Four Spades, the road to making the contract at first glance seems easy enough…  4 spade tricks, 5 clubs, and the Ace of Diamonds.  Perhaps you’ll even be able to take the diamond finesse for a possible overtrick.
However, as the play develops, the defense starts with 2 rounds of hearts;  declarer ruffing the 2nd round, and going after trumps.  East ducks the first round of trumps, but wins the Ace on the second round as West shows out.  So East started with 4 trumps to the Ace.  
East now leads a third round of hearts, continuing an effective “tapping” defense.  When declarer trumps this round, East is left with one trump more than declarer, setting up a second trump trick for the defense.  (If instead of trumping, declarer discards a diamond, the defense will continue with a fourth round of hearts.)  Now what?
Well, the simple answer; the legitimate way to make the contract is to take one more high trump (leaving East with the only remaining trump), and start on the clubs.  The hope is that whenever East ruffs in, she will have no remaining hearts, and will have to lead a diamond away from the King.  This will allow the diamond Queen to win, avoiding a diamond loser, and serving as an entry to Declarer’s remaining good clubs;  making the rest of the tricks.   (If instead, the diamond finesse is winning, the Queen will be covered by the King, and declarer will be stuck in dummy with one or more red suit losers.)
The full hands were as follows:

Professor (North)

(  Q 7 3



(  8 6 5 4




(  A J 5 2



(  J 10

Minna (West) 




Majorca (East)

( 6





(  A 9 5 2

( A K J 9 7




(  Q 10 3

( 10 9 6




(  K 8 7 3

( 7 6 3 2




(  8 4

Warren (South)

(  K J 10 8 4

(  2


(  Q 4 

(  A K Q 9 5

With both sides vulnerable, the bidding proceeded as follows:
North

East

South

West

Professor
Majorca
Warren

Minna
Pass

Pass

1(

2(!

2(

3(

4(

Pass

Pass

Pass

The deal occurred when Minna was still a relative newcomer to the game, and while her 2( overcall was unsound, it had the effect of throwing Warren off base in the play.
The beginning play proceeded as outlined above…  

Heart Ace led.

Heart to the Queen, ruffed by Warren.

Jack of spades, ducked by Majorca.

Spade to the Queen, taken by Majorca.

Heart back from Majorca, ruffed by Warren.

At this point in the play, Warren felt sure that Minna had the King of diamonds to (maybe, just barely) justify her 2-level vulnerable overcall.  Therefore, in the heat of the contest, he did not play off his master trump first, but instead went after clubs immediately.
Majorca ruffed in, and exited with her last trump.  Warren took his remaining club tricks, and tried the diamond finesse…   down one.

Obviously, if Majorca did not have the (K, she could have exited a diamond at the critical juncture, stranding declarer in dummy with red suit losers.  Would Majorca have been up to this play, giving declarer a free finesse?  Probably yes, since the cards at this point of the hand were pretty much an open book.

In the post-mortem, there was some thought that a diamond shift at trick two could always defeat the contract.  Not so;  as long as declarer refuses the finesse, and takes the (A immediately, he can make the contract, as the defense no longer has the timing for an effective “tap”.

